One segment at a time! (Handout 3 ½)
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1) Find the equation for function f. State any domain restrictions.

2) Evaluate f(4) or state why it is not possible to do so.

3) Evaluate f(10) or state why it is not possible to do so.
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4) Find the equation for function g. State any domain restrictions.

5) Evaluate g(2) or state why it is not possible to do so.

6) Evaluate g(5) or state why it is not possible to do so.
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7) Find the equation for function h. State any domain restrictions.

8) Evaluate h(4) or state why it is not possible to do so.

9) Evaluate h(100) or state why it is not possible to do so.

10) Show another way of finding the y-intercepts for the functions f and h.
All Together Now! (Handout 3 ¾)
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1) Find the equation for function m. Include domain restrictions for each segment.
2) Evaluate m(-2) or state why it is not possible to do so.

3) Evaluate m(8) or state why it is not possible to do so.

4) Evaluate m(12) or state why it is not possible to do so.

5) Evaluate m(14) or state why it is not possible to do so.

6) Is this a function? Explain using the graph.
